REVISION OF ISLM

What effect does a rise in government spending have on an ISLM economy?

increase in government spending → increase in planned injections  → negative unplanned investment (stocks go down) → increase in output → increase in transactions demand for money → decrease in speculative demand for money → increase in interest rate → decrease in investment → some crowding out which leads to the increase in output being more modest than it would otherwise be

What effect does a cut in the income tax rate have on an ISLM economy?

cut in income tax rate → increase in disposable income → increase in consumption → negative unplanned investment (stocks go down) → increase in output → increase in transactions demand for money → decrease in speculative demand for money → increase in interest rate → decrease in investment → some crowding out which leads to the increase in output being more modest than it would otherwise be

What effect does an increase in money supply have on an ISLM economy?

increase in money supply → fall in the interest rate as banks get the money market to clear → increase in investment → negative unplanned investment (stocks go down) → increase in output

The magnitude of the effects reported above depend on the relevant elasticities. Hence:

(1) If investment is perfectly interest inelastic, the IS curve is vertical. Monetary policy will not be effective in changing national income. This is because the rise in money supply does not lead to a rise in investment.

(2) If the speculative demand for money is perfectly interest elastic, the LM curve is horizontal. Monetary policy will not be effective in changing national income. This is because the rise in the money supply does not cause a fall in the interest rate.

(3) If investment is perfectly interest elastic, IS is horizontal. Fiscal policy will be ineffective because an increase in the interest rate would choke off all private sector investment. There would therefore be full crowding out.

(4) If the speculative demand for money is perfectly interest inelastic, LM is vertical. Fiscal policy will not be effective. As the interest rate rises to try to decrease the speculative demand for money (a futile task), full crowding out of investment would occur.

Perfect interest elasticity of the demand for money is known as Keynes' liquidity trap. It may occur when interest rates are very low; below a certain interest rate threshold, people might hold all their assets as money (idle balances), and so a further increase in the money supply would not have any effect on the interest rate, investment and national income. Interest rates in the 1930s were low (( ½ %) and a liquidity trap may have obtained then. Japan may have been in a liquidity trap over the last 3 years (r ( 0).

What really happens when you raise G by 1%, ceteris paribus? GDP rises by 0.3% in the medium term (2-3 years), then falls back.

When you cut the income tax rate by 1 percentage point, GDP rises by 0.6%, and stays up (owing to supply side effects).

Cutting the interest rate by 1 point, causes GDP to rise by about 0.75%.

For more details go to http://ve.ifs.org.uk/Easy.shtml
Other good references on ISLM:

http://web.mit.edu/krugman/www/trioshrt.html

http://www.bothell.washington.edu/faculty/danby/islm/islmindx.htm

http://www.huppi.com/kangaroo/Keynesianism.htm

http://www.westga.edu/%7Ecscott/history/interwar.html

http://www.zolatimes.com/v3.10/keynes.htm

ALL OF THESE ARE LINKED TO FROM MY WEBSITE http://economics.web-page.net near a flashing 'new' sign on the links page.

Criticisms of ISLM:

it's static. It doesn't have permanent income effects, or an accelerator, or dynamic effects (expectations) in the way interest rates affect investment

it depends on a particular specification of the model. If eg transactions demand for money depended on consumption, not income, a tax cut could cause LM to shift left and so the whole effect on income of cutting taxes would be ambiguous

the role played by prices is limited 

But all of these features can be relaxed.

